©294F R K FR (R 4E) xlsx

EB 4 KEE |FEHRK BB *5@%/ i IMNRRE(EERER)
& | E/ERNY| EIR hA(EEH) TRR29EE R
1 ARBEOHE
REFEBAN |2A B ¥ A % & B #G
B E S B E FEG * & £ B m & ZToHhDEY m &
H 300 JKFR(P ) 100 |/KFR(R&E) 150
i —>=y 20
HE LAX(FEREY) 100
E i LAX(FEBIFTEY) 130
(OBHEER) LAX(FEY) 70
1E B m & 1 2 3 4 5 6 7 10 11 12
et
o |[KFE(RE) 100a @) A O
#
A
®
ES
A (O #BE A FiE O |uE
2 PTR&EH
BEMNEH ¥
T, FIA 7K FH220afd #h m i E/EHY
FEAFA BRFEH2A HiEHE BT @ A6 A & a)) #5 4l (ERiE)
B - TR S i ekidh T
HEORIVL  |EEBE. FXEHLIEHE
BR5EA & JAH T




B2948 I KFE (4 xlsx

3 EERY (10at-Y) _ e B : kIR YER . h (EEH)
18 B & % g o 7 (7) B I © &8 W
(A)  fIREE 109,620| 5% (7) FE28FEE/EANY1E S CFER%812,200/60kg | H [ B RN EE B e B HINZE
BRE 8,160|680F x 20%5 x 0.6(FAE) 10 540 203 109,620
RE £ 2 11,561|BR (1)
EEE 8,405\ 5% ()
B | ¥ |BhiEE 4139 & (T)
M HE 600|3/ /%% 300 x 20% (10a) : 104F &5 540 203 109,620
NEEH HIlEXRG DOEHZ ke B E [ EM| = & RS
% | Bt (E¥EE 16,416|CEFIFAE 820kg (FK525% ) X 20 ZX—/A—FA1F1)L 20kg 5| 1,084 5,420
& [EYk% 947 | B BIHE D 1% % [RILBEZ402 20kg 3| 2,047 6,141 | F &1 ZLAE
B | KEHE 9,005| & B{fA& D 5% g 11,561
g | B8 B |2hkS 3,056 (M EE B & [ BEm| = & B =
| KE®RE 27,231 A ([BEH 4,946
& | XBiEY 0 FHE 435
E (B) WEtEEt 89,637 BEE 3,024
| LB E-KME 2.024| DB BE KFIE2924M/10a( BEMERREEHLT KE—21 L) | O |EBE 0
& [(FEfmaE 388[1FHE enFRE X BALIETREN x BRABASE (—EBHEARTERE = 8,405
g [ 48 [ZimR 2.432]6,300M/10a X 220a X (B HZ10/570a) (D BRER % = [ BEm]| & & E =
i mﬁs‘zﬁ%%ﬁzﬂ 0 g AUy (Jykb) 8.1 145 1,168
5t 0 0 (JyrL) 16.4] 123 2016
- ﬁJLﬁ%z*Jf 0| Bl (FBRFEFHAELEIEFEH e 955| A E D 30 %
ERFE B |E& (JwkJL) 0
ZDfth 954 REED1% KT i (JwkIL) 0
(C) BEE: 96,335 BX (kwh) 0
@ 1=r 13,285[(A) — (C) #® | &t 4.139
| @] Fﬁ E3 12[D+A HEER B = Bl 2 & E =
[ @ %x@]ﬂ%&ﬁ 19 EREH £
W | EEE 300 0 10
<H 0.1 5,000 50 10
NE 0.1] 2,000 67 3
&t 117




4 {EER - BRIERFER (10aX47-Y)
1

fEB : KA

®29%8 R K (4 ) xlsx

YRR ch (EEE)

2 | 3 | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 [
e T TFT E T T FlT £ & [ FIT ETp T FIEThF] FITETHFTFIET R F]I ET R FIET & T F] E]T [ F[IE]TF [F]ETHTF]
R O A ]

EEHS 0.0
1B 0.0
HEF 0.0
BECGEK) 0.0
A= HIHBR(E &) 0.2 0.2
Tkl 1.5 15
KbhE 0.8 0.8
48 - HEAR 338 3.8
HEHR 0.3 0.3
KEE 1.2 1.2 12] 12 10 10 10] 10 8.8
A= BIHRR 05
InFE 23 2.3
252 0.0
SRR -ER 0.0
B 1.0 1.0

] Bl it 00] 00 00| 00] 00 00| 00 00 00| 00 00| 00|/ 00 00  00[ 00 15 50| 12 12| 00| 00 12 17| 1.0] 10| 10| 10| 33] 00| 00| 00| 00| 00 00| 00

H &t 0.0 0.0 0.0 0.0 0.0 6.5 2.4 2.9 3.0 4.3 0.0 0.0 19.0

[F2 NFREETEABREA L

HELOBER




B®29%F% /KFg (P4 ) xlIsx

5 BEIEEAEBLBIMENE YEB : JKiE R ohA (EaEEE)

mom | Retme | R E | FBEmE | amew | 0| anEr @Ry sees

i (gl © @ | @ | @ o | TSP @ | OT2@

VE15 (B1EME) |85 90 [m 5,400,000 [10/570[a] 1.75 94,737 31 3,056

Z [B|/\2X INATIND R 100 [m 250,000 0 0.00 0 10 0
)
i
B4
VAN
L

N E 5,650,000 94,737 3,056

SO 5— 26ps 118 2,700,000 [10/570[a] 1.75 47,368 7 6,767

He SRR 6.3ps 1|&8 250,000 0 0.00 0 7 0

AR 4.7ps 1|& 290,000 [10/570[a] 1.75 5,088 7 727

- AR B A i 2.3ps 1|&8 300,000 0 0.00 0 7 0

2 |[RILFyv— 13ps 1|& 1,820,000 0 0.00 0 7 0

B LA G 1|&8 1,850,000 0 0.00 0 7 0

E kL 4EHER 1[& 720,000 [10/250[a] 4.00 28,800 7 4,114

AN 25 N]Y) 1|&8 2,120,000 [10/250[a] 4.00 84,800 7 12,114

FAE 251 &Y 1 (& 750,000 0 0.00 0 7 0

B2rovy 660cc 1|& 800,000 [10/570[a] 1.75 14,035 4 3,509

N Et 11,600,000 180,091 27,231
X
)
}&
)

N F 0 0 0

& F 17,250,000 274,828 30,287




